\ psee 2l g e
(p2r )

VAN oty V¥

a0l f(a) = f(b) = 05 30 pdogmie 5L 55 f 2 [a, 0] — R ST 0\ e
b b
/ (& — a)(z — b)f"(z) =2 / f(2)de

c1,co € [0, 1] s ol .folf(x)da: =1 S5 cpl Lol sy b f 2 [a, 0] = RS 555 1Y oy el
1485, s 3,15 54
fler)=2c1 , f(ea) =3c3

ob f S o .folf(mt)dt:OuxeRjAhs\,gaSL;)}b@upuﬁ&bf:R%RJ&SU@J‘A :~“WT;
NSOV Y IV” NGV

daas OlES sl [a,b] ojk'):ﬁ.i\gdbf:&\c;u‘pg) f.\:“fupje wa,qi

[ iswaie < ([ rw) ([ ew)”

1
lim z" f(z)dz = 0.

=0 Jo
S s ) 2 Sl (swys 1P s ged
[ 7% = Ltan™! (£) ¢ (¢ [ #hmde = $In(2? + a®) + ¢ (I
[ = A2 4o [ s = $nfa? - 22| +e (o

~Jsin(3) x#0
f(x)_{a#o x=0



